Recall: Infinite Series
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Relation to the sequence of partial sums:

\JQ’ iO\m:LMgN CLM?;W
g By N e N =>yo
be
e
Nt w Yo z\b“ , Ve o
_— N=2
S, =k ) S, Zhyrb,
NF=
oo .
i — ]/\m QN — Lflm Z bn
N-= po q\\zm“:z



?omoo/\ 22



Possible Conclusions:
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Plot of Sy vs f(N)=In(N)+ 0.5 for
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An Observation

The infinite series below have positive terms.
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Questions: What does this tell us about the sequence of
partial sums? -
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What can we say about an increasing sequence that is

bounded above?
T+ csrven 3/4 .

What can we say about an increasing sequence that is not
bounded above? v W\az‘(
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Interpret the Following

y== il = Sum a( aceas d'(
O, n=1 11 rw'{-a nﬁ)@.{

(2, %)

l (323 (u, %)

ly.

2

I, S—

)
Iy ‘/.1 Y-

15 2 25 3 35 4 45 5 55

o
=)
o
-

4
Mot % (e acco bhwa 2
— %\g_ )(,-'0\-)(::' J"")('

|\ X < b2 e



Interpret the Following
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A General Observation for Infinite Series
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Question: What if the terms of a series do not
g0 to zero?
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Answer: (divergence test) The series
diverges.



Divergence Test Flow Chart:
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No
Series
Diverges!!

Yes
The series might
converge, or it
might diverge.
Get to Work!!
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We can typically only determine whether an infinite
series (sum) converges or diverges. Quite often, we
cannot find the actual sum.

Some exceptions:
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Geometric Series: Suppose 7 1s a given real

number.
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Example: Z ﬂ
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Next Time...
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